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No. 
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No. 
Answer Question 
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Answer Question 

No. 
Answer 

1 B 19 C 35 D 43 A No Change. 

The rainbow formation takes 
place when sunlight falls on the 
spherical water drops. Three 
phenomenon takes place in the 
following order:  
(1) First phenomena is dispersion.  
(2) After dispersion the rays are 
reflected.  
and finally (3) They emerge after 
refraction from droplets to air and 
form rainbow.  
Hence the correct option is ‘B’ 

2 B 20 C 36 D 44 A  

3 A 21 B 37 C 45 D  

4 B 22 C 38 D 46 A  

5 B 23 C 39 D 47 A  

6 C 24 D 40 A 48 B  

7 C 25 D 41 A 49 B  

8 C 26 D 42 A 50 B  

9 C 27 D 43 A 1 B  

10 D 28 A 44 B 2 C  

11 D 29 A 45 B 3 C  

12 D 30 A 46 B 4 C  

13 B 31 C 47 D 5 A  

14 A 32 B 48 C 6 D  

15 D 33 A 49 B 7 C  

16 D 34 A 50 B 8 C  

17 C 35 D 1 A 9 B  

18 D 36 A 2 B 10 C  

19 B 37 C 3 D 11 A  

20 B 38 C 4 D 12 A  

21 B 39 C 5 D 13 A  

22 A 40 B 6 C 14 D  

23 A 41 B 7 C 15 D  

24 C 42 D 8 A 16 B  

25 B 43 C 9 D 17 A  

26 A 44 B 10 C 18 D  

27 C 45 D 11 A 19 B  

28 A 46 B 12 C 20 D  

29 A 47 B 13 C 21 D  

30 D 48 A 14 B 22 C  

31 B 49 C 15 D 23 A  
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32 D 50 A 16 B 24 C  

33 A 1 B 17 C 25 D  

34 C 2 D 18 A 26 B  

35 B 3 C 19 D 27 A  

36 B 4 C 20 D 28 A  

37 Deleted 5 Deleted 21 Deleted 29 Deleted  

38 A 6 B 22 C 30 D  

39 B 7 C 23 D 31 A  

40 A 8 B 24 C 32 D  

41 B 9 C 25 D 33 A No Change. 

Said Examination was held in 

November 2022. Office of the 

Registrar General, and Census 

Commissioner of India, the 

population estimate is 1393409038 

(in 2021) land area is 3287240 sq 

km. 

Density of population (DP)= 

P/A= 1393409038/3287240=423 

per sq km. 

Hence the round figure is about 

420  Correct answer is option ‘B’ 
42 B 10 C 26 D 34 A  

43 A 11 B 27 C 35 D No Change. 

Safer internet day is celebrated on 
first Tuesday of February every 
year. 
As exam was held in November 

2022, next safer internet day will 

be 7th February 2023. 

44 C 12 D 28 A 36 B  

45 A 13 B 29 C 37 D  

46 C 14 D 30 A 38 B  

47 A 15 B 31 C 39 D  

48 A 16 B 32 C 40 D  

49 B 17 C 33 D 41 A  

50 B 18 C 34 D 42 A  
 


